Strategy S(V5>(t)) S(Vi> () S(Vir(t)

PV 0.39 £ 0.062 0x+0 0+0

PV + RV 0.37 £ 0.059 0.041 £+ 0.0063 0=£0

PV + NN 0.37 £ 0.059 0.02 £ 0.0044 0.051 £ 0.007
PV + CV 0.37 £ 0.059 0.02 £ 0.0043 0.051 £ 0.0071
PV + INN 0.36 &= 0.058 0.019 £ 0.0042  0.081 £ 0.0087
PV (NB) 0.35 £ 0.015 0+0 0+0

PV + RV (NB) 0.35 £ 0.014 0.14 £ 0.01 0+0

PV + NN (NB)  0.35 £ 0.015 0.063 = 0.0071  0.16 £ 0.011
PV + CV (NB)  0.35 + 0.015 0.063 = 0.0073  0.16 £ 0.011
PV + INN (NB) 0.36 + 0.014 0.058 £ 0.0068  0.22 £ 0.012
PV + RV ($20) 0.35 = 0.054 0.094 £ 0.0088 0=+ 0

PV + NN ($20)  0.33 + 0.052 0.045 £ 0.0061  0.11 £ 0.0094
PV + CV ($20)  0.33 + 0.051 0.045 £ 0.0063  0.11 £ 0.01
PV + INN ($20) 0.32 4+ 0.049 0.043 £ 0.0061  0.18 £ 0.011
PV + RV (3$50) 0.33 £ 0.048 0.13 £ 0.012 0£0

PV + NN ($50)  0.31 4+ 0.044 0.061 £ 0.0077  0.15 £ 0.013
PV 4+ CV ($50)  0.31 &+ 0.045 0.061 £ 0.0079  0.15 £ 0.014
PV + INN ($50) 0.29 + 0.042 0.058 £ 0.0075  0.23 £ 0.016




